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Write short notes on communication, leadership

and human relation
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Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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Write short notes on
(1) Preparation of finance schedule

(1) Prepariring of labour schedule (iv)
v

fr=Tifea wR dftra fewfl fod -
(i) fa<t g AR BT
(i) A9IGX ITHA AR HIAT

3 15605E

fortor @Y ufta sraverr 21
(31) wrivera &1 wd&oT
(@) ffasr @& dard

(|) 9rd &1 URH

(}) 9Tdwe &1 dar

Before tender it is essential to have
(a) Land ownership

(b) Selection of work site

(c) Design of work

(d) All of the above

fafaer & yd smasa®mar 2
CIECIES

(@) srRIrE &1 g9

(A) drd &1 AMHeu

(?) SR & ¥

An engineer is a representative for any
construction work.

(a) Of material supplier

(b) Of contractor

(c) Of owner

(d) Of labour
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GROUP -C (vi)

Answer all Five Questions.

afl ufg 9 & SR < |

8x5=40

7. Describe the important activities of different stages

1n construction. 3

fmtor ¥ fafr=1 sravemal @ weayel fearei (vii)
&1 9o o |

OR (3121d1)

Describe the role of each constituent of construction

team. (vii)
i < & YAS @uaad &1 ST &1

qofq & |

8. Describe the important duties of a junior engineer.

8
S AP & Y ST &1 9vfT wW |

(viii)
OR (3121a1)

Describe the main points of inspection on Earth
Work.

5 15605E

gRErerT dY fafer= Gfeparen & IR
arferer ¥ fe@mar sirar 2 1

(a1) fagan @

(@) werl |

(@) afast @Rt |

(%) S @RI A

The first method invented for planning
Projects was.

(a) Critical path method

(b) Milestone chart

(c) Bar chart

(d) None of the above

gRATST & e & ford g fafer
rfashd g3 |

(31) wifae uer fafer

(@) wgeRel darferat

() IR arferar

(]) SR & BIg TN

The main advantages of line organisation is,
its.

(a) Rigid discipline in the organisation

(b) Non ability of taking decision

(c) Non availability of responsibilities

(d) None of the above
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4. Explain the need of inspection and quality control . (x)
4
fréeror va Tpura MR @) sraTaadr i
TS |
OR (3121an)
Write short note on temporary servicing in (x1)

construction management.

fomfor yeoq ¥ arend A9 w wfera
fewofy forg |

. (xi)
5. Enumerate the importance of safety measures.

AT SURI & He<d I el Y |

OR (3121an)
(xii)
Write the main stages of inspection of building
construction work.

e e sl & g a1 @1 §=
gy fafad |

7 15605E

i rff=or fasfor ¥ araga
qaifere efT GTed & UdR 2 |
(31) Y@ ¢d % G

(@) Y@ "red

(|) sria® HeA

() ywrdl "8+

Executive Engineer is Head of
(a) Technical subdivision

(b) Technical Zone

(c) Technical division

(d) None of the above

SriuTad AT Y= BhaT 2
(a1) d-ildl IgaSe
C)GERICIRAE]

(|) db-al yasd

(@) T A @ig &

Inspection of departmental construction
work is executed by.

(a) A contractor

(b) A mason

(c) An engineer

(d) Public of worksite
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(xx)

(xx)

12 0T6012

Choose the correct statement
(a) PERT is event oriented

(b) PERT is not event oriented
(c) CPM is event oriented

(d) CPM is not event oriented

el HU ﬂ?\f :

(@) ud Tea=gE 2|

@) ud mea=E T8 2|

(&) WodoTHo T & 2 |
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(xiv) Tior sl A grar Feiv svar 2 |

(xv)

(xv)

(xvi)

(31) grer SurA
(@) gR&AT ST W4T
(|) < gram
(?) SR & a+ft

Due to non provision of safety measures,
the employer faces.

(a) Work loss

(b) Money loss

(c) Time loss

(d) All of the above

LTS UM ST YIae= T8 @A B
PRI TS ATHAT HRAT & 2

(a1) s afa

(@) >uar &afa

(&) w9 &fa

(]) SR & a+ft

An event is

(a) A definite position of an activity
(b) The terminal of an activity

(c) A difinite time interval

(d) A difinite job
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